ZENNER Fire Hydrant Meters
Parts List for Models FHZ20, FHZ25, FHZ30 (Size 3”)

ITEM #

PART NUMBER

DESCRIPTION

3

1A

Z04C20MSPS

Screw Slot Pan SS M4-0.7 x 20

1B

Z04C20MSPSDH

Screw Slot Pan SS M4-0.7 x 20, Tamper Wire Hole

2

ZFHZCVRAXB

FHZ Brass Register Shroud and Lid Assembly

2A

ZPMRCVRXB

Register Cover, Brass

2B

ZPINOBR098100

Register Cover Hinge Pin

Z04C6MPPS

Screw Phil Pan SS M4-0.7 x 6

ZFHZREGRR

FHZ Register Retaining Ring, Plastic

5A

ZFHZO3REGUS

FHZ Register, 3", U.S.Gallon

5B

ZFHZO3REGCF

FHZ Register, 3", Cubic Feet

5C

ZFHZO3REGCM

FHZ Register, 3", Cubic Meters

6A

Z12C40HCSS

Bolt Hex Cap SS M12-1.75 x 40

6B

Z712CA40HCSSDH

Bolt Hex Cap SS M12-1.75 x 40, Tamper Wire Hole

Z12N20WSHS

Washer Flat SS M12 x 20 OD

8-1

ZFHZCVRPLSB

Cover Plate Assy, Barrel Lock (FHZ##B)

8-1A

ZFHZHNDLSB

FHZ Single Handle Barrel Lock (FHZ##B)

8-2

ZFHZCVRPLSP

Cover Plate Assy, Padlock (FHZ##P)

8-2A

ZFHZHNDLSP

FHZ Single Handle Padlock (FHZ##P)

8-3

ZFHZCVRPL

Cover Plate, Flat (FHZ##S or FHZ##N)

9

ZFHZHNDLDS

FHZ Double Handle, SS

(ST S N N P P S TSN EVC R S N PN PN S PN N TSN P E N

10-1A

ZFHZO3NUMEUS

FHZ Unitized Measuring Element Assy, No Handles, US Gallons. Includes 1, 2, 3, 4, 5-US, 8-3, 10, 10-7 & 11

10-1B

ZFHZO3NUMECF

FHZ Unitized Measuring Element Assy, No Handles, Cubic Feet. Includes 1, 2, 3, 4, 5-CF, 8-3, 10, 10-7 & 11

10-1C

ZFHZO3NUMECM

FHZ Unitized Measuring Element Assy, No Handles, Cubic Meters. Includes 1, 2, 3, 4, 5-CM, 8-3, 10, 10-7 & 11

10-2A

ZFHZO3BUMEUS

FHZ Unitized Measuring Element Assy, Single Handle Barrel Lock, US Gallons. Includes 1, 2, 3, 4, 5-US, 8-1, 10, 10-7 & 11

10-2B

ZFHZO3BUMECF

FHZ Unitized Measuring Element Assy, Single Handle Barrel Lock, Cubic Feet. Includes 1, 2, 3, 4, 5-CF, 8-1, 10, 10-7 & 11

10-2C

ZFHZO3BUMECM

FHZ Unitized Measuring Element Assy, Single Handle Barrel Lock, Cubic Meters. Includes 1, 2, 3, 4, 5-CM, 8-1, 10,10-7 & 11

10-3A

ZFHZO3PUMEUS

FHZ Unitized Measuring Element Assy, Single Handle Padlock, US Gallons. Includes 1, 2, 3, 4, 5-US, 8-2, 10, 10-7 & 11

10-3B

ZFHZO3PUMECF

FHZ Unitized Measuring Element Assy, Single Handle Padlock, Cubic Feet. Includes 1, 2, 3, 4, 5-CF, 8-2, 10, 10-7 & 11

10-3C

ZFHZO3PUMECM

FHZ Unitized Measuring Element Assy, Single Handle Padlock, Cubic Meters. Includes 1, 2, 3, 4, 5-CM, 8-2, 10, 10-7 & 11

10-4

ZFHZO3NMEA

Measuring Element Assembly with Flat Cover Plate (No Handles). Includes 8-3, 10, 10-7 & 11

10-5

ZFHZO3BMEA

Measuring Element Assembly with Single Handle Barrel Lock cover plate. Includes 8-1, 10, 10-7 & 11

10-6

ZFHZO3PMEA

Measuring Element Assembly with Single Handle Padlock cover plate. Includes items 8-2, 10, 10-7 & 11

10-7

ZFHZMEFS

FHZ Measuring Element Front Seal

S S e N Y Y I T

11

ZFHZCVRPLORING

FHZ Cover Plate O-Ring

12-1

ZNP25208B

Nipple 2.5"NH x 2"MIP, Brass (FHZ20)

12-2

ZNP2525B

Nipple 2.5"NH x 2.5"MIP, Brass (FHZ25)

12-3

ZNP25308B

Nipple 2.5"NH x 3"MIP, Brass (FHZ30)

13-1 [ZFHZHSG2520 FHZ Meter Housing 2.5"FIP x 2"FIP

13-2 |ZFHZHSG2525R FHZ Meter Housing 2.5"FIP x 2.5"FIP w/ Restrictor

13-3 [ZFHZHSG3030 FHZ Meter Housing 3"FIP x 3"FIP

14-1 |ZSW2525BSTR Swivel 2.5"SW x 2.5"MIP, Brass w/ Strainer (FHZ20/25)

14-2 |ZSW2530BSTR Swivel 2.5"SW x3"MIP, Brass w/ Strainer (FHZ30)

GG GGG

800.437.1146 / INFO@POLLARDWATER.COM




